CONFIDENTIAL

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

ORIGINAL

September 1999
Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 7311	API No. 15 - 109-20762 - 00 - 00
Name: Shakespeare Oil Company, Inc.	County: Logan
Address: 202 West Main Street	S/2 - NW - NE Sec. 10 Twp. 13 S. R. 32
City/State/Zip: Salem, IL 62881	1168 feet from S / (N) (circle one) Line of Section
Purchaser: NCRA JUN 0 1 2006	1840 feet from (E) / W (circle one) Line of Section
Donald P. Williams	Footages Calculated from Nearest Outside Section Corner:
Operator Contact Person: CONFIDENTIAL Phone: (618) 548-1585	(circle one) (NE) SE NW SW
Contractor: Name; Murfin Drilling Co., Inc.	Lease Name: Teeter Well #: 3-10
License: 30606	Field Name: Stratford
Wellsite Geologist: Tom Funk	Producing Formation: Pawnee
Designate Type of Completion:	Elevation: Ground: 3028' Kelly Bushing: 3038'
New Well Re-Entry Workover	Total Depth: 4748' Plug Back Total Depth: 4552'
✓ Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 223 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
	If yes, show depth set _2500 Feet
Dry Other (Core, WSW, Expl., Cathodic, etc)	
If Workover/Re-entry: Old Well Info as follows:	feet depth to surface w/ 350 sx cmt.
Operator:	reet depth to sx cmt.
Well Name:	Drilling Fluid Management Plan ATTWH
Original Comp. Date: Original Total Depth:	(Data must be collected from the Reserve Pit) (0-29-0'7
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 6500 ppm Fluid volume 2500 bbls
Plug Back Plug Back Total Depth	Dewatering method used Evaporation
Commingled Docket No	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	Operator Name:
Other (SWD or Enhr.?) Docket No	Lease Name: License No.:
3/18/06 3/27/06 4/14/06	
Spud Date or Date Reached TD Completion Date or Recompletion Date	Quarter Sec Twp S. R
recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workor Information of side two of this form will be held confidential for a period of 107 for confidentiality in excess of 12 months). One copy of all wireline log TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged well	th the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, ver or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-15) and geologist well report shall be attached with this form. ALL CEMENTING Is. Submit CP-111 form with all temporarily abandoned wells.
herein are complete and correct to the best of my knowledge.	
Signature: Nonald K. Will.	KCC Office Use ONLY
Title: Vice President Date: 5/31/06	Letter of Confidentiality Received
Subscribed and sworn to before me this 31 day of May	If Denied, Yes Date:
20 06	Wireline Log Received RECEIVED
A OFFICIAL S	SEAL S
Notary Public: Dette G. Mensen BETH A. ME NOTARY PUBLIC, STATE	
Date Commission Expires: 4-1-08 MY COMMISSION EXPI	250
	KCC WICHITA

Operator Name: Shakespeare Oil Company, Inc.			Lease Name: Teeter			***·*	Well #: 3-10			
Sec Twp1	³ S. R. ³²	East	✓ West		nty: Logan					
ested, time tool ope emperature, fluid red	how important tops a n and closed, flowing covery, and flow rate s surveyed. Attach f	g and shut s if gas to	-in pressures, surface test, a	whether long with	shut-in pre	essure reached	static level, hydr	ostatic pressu	res, bottor	m hole
Orill Stem Tests Take		 ✓ Y	es 🗌 No		 ✓L	og Format	ion (Top), Depth	and Datum		Sample
Samples Sent to Geological Survey		es 🗹 No		Nam	е		Тор	ſ	Datum	
Cores Taken lectric Log Run (Submit Copy)		Ye			See	Geological Rep	oort	KC		
ist All E. Logs Run:								KC		
DIL/CDL/CNL	/GR	. •					C	JUN 0 1 CONFIDE	2006 NTIAL	; •
		Repo	CASING			ew Used	ction, etc.			
Purpose of String	Size Hole Drilled	Siz	e Casing (In O.D.)	W	eight s, / Ft.	Setting Depth	Type of Cement	# Sacks Used		and Percent dditives
Surface	12 1/4"	8 5/8"	· · · · · · · · · · · · · · · · · · ·	23#		223'	Common	165	2% gel	, 3% CaCl
Production	7 7/8"	4 1/2"	***************************************	10.5#		4600'	ASC	150	5#/sx g	ilsonite
			ADDITIONAL	CEMEN	TING / SQL	JEEZE RECOR	D			
Purpose: Perforate	Depth Top Bottom	Туре	of Cement	#Sac	ks Used		Type and	Percent Additive	s	
	0-2500'	Pozmix		350		65/35 w/ 8% gel & 1/4#/sx flocele				
Shots Per Foot			RD - Bridge Plug Each Interval Per		D é		acture, Shot, Ceme		ord	Depth
4	Pawnee 4471-75 H	ISC				500 gal 15% NEFE, 1500 gal 15% NEFE 4				4471-75
TUBING RECORD	Size	Set At		Packe	r At	Liner Run	∏Yes ✓ N			
<u> </u>	3/8" d Production, SWD or E	4542' Enhr.	Producing Met	hod	Flowin	g √Pumr			ner (Explain)
Estimated Production Per 24 Hours	Oil 8	Bbls.	Gas	Mcf	Wate			Gas-Oil Ratio		Gravity
Disposition of Gas	METHOD OF (COMPLETIC	l DN		<u> </u>	Production Inte	erval			
Vented Sold	✓ Used on Lease ubmit ACO-18.)		Open Hole	ify)	erf. [Dually Comp.	Commingled		JUN	CEIVED 1 0 5 201

KCC WICHITA

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

KCC JUN 0 1 2006

INVOICE

CONFIDENTIAL Invoice Number: 101656

Invoice Date: 04/10/06

Sold Shakespeare Oil Co., Inc.

ONLY if paid within 30 days from Invoice Date

To: 202 West Main St.

Salem, IL 62881

Wed File

Cust I.D....: Shak

Total...:

P.O. Number. : Teeter 3-10

P.O. Date...: 04/10/06

Due Date.: 05/10/06 Terms...: Net 30

Item I.D./Desc.	Qty. Used		Unit	Price	Net	TX
Common	228.00		SKS	11.0000	2508.00	Т
Pozmix	122.00		SKS	5.2000	634.40	${f T}$
Gel	24.00		SKS	15.0000	360.00	${f T}$
FloSeal	87.00		LBS	1.8000	156.60	${f T}$
Handling	485.00		SKS	1.7000	824.50	Ε
Mileage	12.00		MILE	33.9500	407.40	E
485 sks @.07 pe				•		
Port Collar	1.00		JOB	860.0000	860.00	Ε
Mileage pmp trk	12.00	,	MILE	5.0000	60.00	E
				•		
All Prices Are Ne	t, Payable 30 Days	Followin	a Sub	total:	5810.90	
	1 1/2% Charged The		_		230.52	
	T take Discount of			ments:	0.00	
LE HOCCOILC CORRE			-		5017 10	

RECEIVED
JUN 0 5 2006
KCC WICHITA

6041.42

ALLIED CEMENTING CO., INC. 23786

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665		65	UN 0 1 2006	SER	SERVICE POINT:			
	,		*			DALLY	ey F >	
4-4-06 DATE	SEC.	TWP.	RANGE CC	NEDENTIAL	ON LOCATION		JOB FINISH	
Teele& LEASE	WELL#	3-10	LOCATION OAL	11	1	COUNTY	STATE	
OLD OR NEW C			Location & A	-1xy 1 2 5 -	90.70	Losan	165	
OLD ON TEN C	on one one)							
CONTRACTOR	Fritz	1-2		OWNER	Same		•	
	>01+ C				3777			
HOLE SIZE		T.D		CEMENT			•	
	41/2	DE	PTH 4600'		RDERED 45		35	
	2318	DE	PTH 2 Soo'	<u>89. ç</u>	0 1/4 K	le- sen!		
DRILL PIPE			PTH	used	3505E	5	· · · · · · · · · · · · · · · · · · ·	
TOOL			PTH	_	00001	0 1 20	3-00	
PRES. MAX		,	NIMUM DE JONET	_ COMMON_		<u>8@11 </u>	2508	
MEAS. LINE CEMENT LEFT I	NCSC	SH	DE JOINT	_ POZMIX _		13@ 5 2°	634	
PERFS.	11 C3U.		·	_ GEL CHLORIDE	212	4@15°	3605	
DISPLACEMENT	Γ	9.75	•	_ CHLORIDE ASC				
2101121021112111				_ ASC				
	EQU	IPMENT		£10-58	# 1 /m	-@ -80	156	
				-	87	≠ @ 1	. 138	
PUMP TRUCK	CEMENT							
# 102	HELPER	Wal	4.					
BULK TRUCK	DDIVID	1				@		
# ろ99 BULK TRUCK	DRIVER	Larr	Υ			@		
#	DRIVER					_ @ <u> o</u> _		
	DICEVER			 HANDLING 		_ @ \	824	
				MILEAGE _	10745KX		407.46	
	REN	MARKS:	4			TOTAL	4890 9	
Piess 4	00	24 0	theld					
1 mildarza	1 Cis	nculay	1/02		SERV	ICE		
	50 sk	< c m	ant displa	<u></u>				
912 BBL			el press de		OB	250	0' 00	
1000 ps.		1	1 7 T45	_ PUMP TRUC	CK CHARGE		860	
reverse.				_ EXTRA FOC		_ @		
707 cc			1:15pm	_ MILEAGE _	12	_@ <u>\$</u>	605	
	<u> </u>	BAK	たいててんよ	- MANIFOLD		@		
•	•	•	70227	re w	A	@	-	
			•		RECEIVED	@		
CHARGE TO: <u>S</u>	hall- sp	94AF	0:10,		JUN 05 2006		2 00	
				-	JON 0 3 Z006	TOTAL	720	
				- KC	C WICHITA			
CITY	STA	ATE	ZIP	-			TOD	
					PLUG & FLOA	I EQUIPMEN	11	
•						@		
						@	-	
To Allied Cemen	_							
			enting equipment					
and furnish ceme				• •		@		
			e above work was					
			of owner agent or			TOTAL		
			the "TERMS AND) TAV		•		
CONDITIONS"	listed on th	ne reverse	side.	TAX		_		
				TOTAL CHA	RGE			
							D D100 5 :===	
		()		DISCOUNT -		—— IF PAI	D IN 30 DAYS	
	70	1/			0 100	, 1		
SIGNATURE	11 \	Jars	-on_		C. LAK	SON		
					PRINT	ED NAME		

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

KCC JUN 0 1 2006 CONFIDENTIAL

Invoice Number: 101544

Invoice Date: 03/30/06

Sold Shakespeare Oil Co., Inc.

202 West Main St. To:

Salem, IL . 62881

Cust I.D....: Shak

P.O. Number.. Teeter 3-10

P.O. Date...: 03/30/06 [N]
10502-5
*3-10- Cement 4/2 long string Due Date.: 04/29/06 Terms....: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
ASC	175.00	SKS	12.8000	2240.00) Т
Gilsonite	875.00	PER	0.6500	568.75	T
CD-31	123.00	LBS	6.7500	830.25	T
WFR-2	500.00	GAL	1.0000	500.00) T
Handling	205.00	SKS	1.7000	348.50) E
Mileage min.	1.00	MILE	200.0000	200.00) E
Prod. String	1.00	JOB	1580.0000	1580.00) E
Mileage pmp trk	12.00	MILE	5.0000	60.00) E

All Prices Are Net, Payable 30 Days Following	Subtotal:	6327.50
Date of Invoice. 1 1/2% Charged Thereafter.	Tax:	260.76
If Account CURRENT take Discount of \$ 632.75	Payments:	0.00
ONLY if paid within 30 days from Invoice Date	Total:	6588.26

OK DRW

JUN 0 5 2006 KCC WICHITA

ALLIED CEMENTING CO., INC. 25350

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665			JUN 0 1 2	JUN 0 1 2006 SERVICE POINT:				
RUS	SELL, KAI	NSAS 6760	5	CONFIDEN		\mathcal{C}	DaKI	ley
3-29-06 DATE	SEC/O	TWP.	RANGE 32 W	CALLED OUT			TART	JOB FINISH 8.75 Am
Toe Tex	ľ	3-10		11/2 12	,	COUN	TY	STATE
LEASE OLD OR NEW (C		9 10	LOCATION CQ.	KIEY 12	Tyle		411	
OLD OR NEW (C	itcle one)							
CONTRACTOR	Murf	in Drle	Rig 14	OWNER	••	59me		
TYPE OF JOB	Produ	dion	STFing					
HOLE SIZE	178	T.D	47.50	CEMEN				
CASING SIZE TUBING SIZE	7/2_	DEI DEI			TORDERED	70.1		3, 0
DRILL PIPE		DEI			9 <u>KS ASC, 5</u> CD 31	50099		
	Collar		TH 2500'					
PRES. MAX			IIMUM	COMMO	N	@		
MEAS. LINE			DE JOINT 40.3.			@		
CEMENT LEFT II	N CSG.	40,32'		GEL		@		
PERFS. DISPLACEMENT	70	4 01	/	CHLORI		@	2 00	20/10 0
DISPLACEMENT		12_13b		ASC	/75 sks	@ <i>/</i> _<	.,00	2240,00
	EQU	IPMENT		Gi150	117e 875		.65	568,75
PUMP TRUCK	CEMENT	ER D	2917	- $CD3$	/ /234	@	76-	830.25
#373-281	HELPER	Andi	on	<u></u>		@ <i></i> @	<u>• /.)</u>	<u> </u>
BULK TRUCK		,		WFR	-2 50099		OC)	500.00
# 23// BULK TRUCK	DRIVER	Lar	r1/		<i>J</i> .	@		
•	DRIVER				0	@		2//0/
<u>"</u>	DICITION			HANDL	7		<u> 70 </u>	348,50
	T) T) T	AADIZO.		MILEAC	E Mimimum		*	200.00
		MARKS:	1 0 -	•			FOTAL	468755
Pump 5 Bl					and a	*****		
	Hole W		Pump Jou		SE	RVICE		
419 CG 150	Tisks As	0 540	21 806 To 34	OF DEPTH	OF JOB			
12 cp 31.	wash	Puma	+Line, D.		RUCK CHARGE			1580,00
	Landa		009,					
Most /	eld			MILEAC	FOOTAGE BE _ <i> 2M; e</i>	<u>5</u> @ <u>5</u>	00	60,00
				— MANIFO	DLD	@	· · · · · · · · · · · · · · · · · · ·	
			Thank yo	04		@		
	1			,		@		
CHARGE TO: SA	14K C.5P	ear O	// Co					Il lin a
STREET						1	TOTAL	1640.00
CITY	CT	ATE	ZID					
CII I		AIE	ZJF		PLUG & FL	OAT EQUI	(PMEN	T
			•	NO	NE	@	RE	CEIVED
To Allied Cemen	iting Co., 1	nc.			,	@		V 0 5 2006
You are hereby r	-		nenting equipmer	nt		@	KCC	MICHITA
and furnish ceme	enter and h	elper to a	ssist owner or			@		VICHIA
contractor to do	work as is	listed. Th	ie above work w	as		_	TO T. 1	
done to satisfacti		-	_				TOTAL	
contractor. I hav				ND Tax				
CONDITIONS"	listed on t	he reverse	side.					
				TOTAL	CHARGE			
				DISCOU	NT		IF PAII	O IN 30 DAYS
		\mathcal{L}				1		
SIGNATURE	7.C	Lauro	~		T.C. LAI	RSON		
		T			PR	INTED NA	ME	

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

KCC

JUN 0 1 2006

Invoice Number: 101429

CONFIDENTIAL

Invoice Date: 03/22/06

Sold Shakespeare Oil Co., Inc.

To: 202 West Main St. Salem. IL

Salem, IL 62881 Espy

Cust I.D....: Shak

P.O. Number. . Teeter #3-10

P.O. Date...: 03/22/06

Due Date.: 04/21/06 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common	165.00	SKS	11.0000	1815.00	T
Gel	3.00	SKS	15.0000	45.00	${f T}$
Chloride	6.00	SKS	42.0000	252.00	T
Handling	174.00	SKS	1.7000	295.80	E
Mileage min.	1.00	MILE	200.0000	200.00	E
Surface	1.00	JOB	735.0000	735.00	E
Mileage pmp trk	12.00	MILE	5.0000	60.00	\mathbf{E}
Surface Plug	1.00	EACH	55.0000	55.00	Т

All Prices Are Net, Payable 30 Days Following
Date of Invoice. l 1/2% Charged Thereafter.

If Account CURRENT take Discount of \$ 345.7%

ONLY if paid within 30 days from Invoice Date

Subtotal:

Tax....:

Payments:

0.00

Total...:

3457.80

Tax....:

136.52

Payments:

0.00

RECEIVED
JUN 0 5 2006
KCC WICHITA

ALLIED CEMENTING CO., INC. 22424

REMIT TO P.O. B	OX.31					SERV	ICE POINT:	8
	ELL, KAN	ISAS 6760	55	JUN	01 000	OLK V	A) A	KLEV
	ī	<u> </u>			. ***			
DATE 3-19-06	SEC.	TWP 135	RANGE 32W	CUIVER	IDENTIAL	ON LOCATION 1245AM	JOB START	JOB FINISH
tester			_	21/10	Vina		COUNTY 1	STATE
LEASE	WELL# 3	3-10	LOCATION O	MKLE	1 125-u	IN	LOGAN	K5
OLD OR NEW (Cir	cle one)			,				
CONTRACTOR	muRA	EEN I	RHG. RI	J# 14	OWNER ,	EAMS.		
TYPE OF JOB	SILFF	FACE	Mac Mul	- 1	OWINER			
HOLE SIZE	12//		220	2	CEMENT			
CASING SIZE	85%				AMOUNT OR	DERED 165	SKS COMS	3% CC296E
TUBING SIZE		DEI	PTH			,		
DRILL PIPE	`	DEI	TH					
TOOL		DEI	PTH				, dO	ני
PRES. MAX		MIN	IMUM		COMMON	16.5	@ // %	1215 %
MEAS. LINE		SHO	DE JOINT		POZMIX		@	-,
CEMENT LEFT IN	CSG.		15'		GEL	3.5Ks	@ 15 8	45 5
PERFS.					CHLORIDE _	6 5K5	@ 424	252 %
DISPLACEMENT			14 BBL		ASC		@	
	EOU	IPMENT						
	(- <u></u>	
PUMP TRUCK (CEMENTE	2D -1	-001			Dear.		
3 A /		K _/2	-XX-Y			RECEN	/ED	
# /// F BULK TRUCK	IELPER	FY	1224			JUN 05	Ønne .	
	ADIMED	1	- 1110				(a)	
# <i>377</i> I BULK TRUCK	DRIVER		E///			KCC WIC	LITA	
	RIVER					100 1110	AI W	
<u>π</u>	MIVER			_	HANDLING_	1745KS	@ 120	29580
					MILEAGE 7	4 PER SKI	MIS	200 3
	REM	IARKS:			MINIMUM	Charge	TOTAL	2607 8
	1						101112	
CEMEN 7	dI	d C	IRCI			SERVIC	CE	
					· · · · · · · · · · · · · · · · · · ·			
			,		DEPTH OF JO	В	<i>223'</i>	
					PUMP TRUCK	CHARGE		735%
					EXTRA FOOT	AGE	@	
	· · · · · · · · · · · · · · · · · · ·				MILEAGE	12 MI	@ 5-00	600
			,,	 -	MANIFOLD _		@	
		1	TANK	<i>Y04</i>			@	
	1	, ,,					@	
CHARGE TO: 5/	AKES	DEAR	E QIL	co, Fa	IC			18
NOW TO TO TO TO					•		TOTAL	795 €
STREET	· · · · · · · · · · · · · · · · · · ·						101110	
CITY	STA	ТЕ	ZIP					
					F	LUG & FLOAT	EQUIPMEN	Γ
		•				•		
					85/0 SU	REACE plub	. @	Se 20
					- 		@	
To Allied Cementin	na Co In						@	
You are hereby req			entina ganinm	ent			@	
and furnish cement				CIIL			@	
contractor to do wo								
							TOTAL	55-6
done to satisfaction	_		_			•	IOIAL	~~ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \
contractor. I have a					TAX			
CONDITIONS" lis	sted on the	e reverse	side.		144		,	
					TOTAL CHAR	GE		
					DICCOLVE		منابق لا منظ لمنظيظ	A TAT OO TO ATTO
	1		1		DISCOUNT		—— IF PAID	IN 30 DAYS
	84	1		Л	12 -	m 1 4		
GIGNATURE	13	9/1	Work		GREG	2 Claru	11	
- Inn.			""			TATA TA TIMEN	DALABET	